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’ 100kN/mM%#BZ 5% -l -~ = -|3mEBZS -~ = = —| 100kN/m%#8% % = -~ = -|3mZFBZ B -~ = = =
s 1.00{0.00 ~ 5.78 72.26| =hLlst | 000 ~ 578| 2.12 11.32 s 1.00f 500 ~ 8.36 72.26( =hLlst | 500 ~ 836 2.12 11.32
9 100kN/mM##BZ 5 -l -~ = -|3mEBZ5 -~ = = —| 100kN/m%#8% % = -~ = -|3mZEBZ 5 -~ = = =
s 1.00{ 0.00 ~ 3.88 48.70| =4t [0.00 ~ 3.88] 250 13.40 s 1.00f 500 ~ 8.82 48.70| =nkist | 500 ~ 8.82| 250 13.40
3 100kN/mM%#BZ 5 -l -~ = -|3mEBZ5 -~ = = —| 100kN/m%#8% % = -~ = -|3mEFBZ B -~ = = =
s 1.00{ 0.00 ~ 442 55.22| #h LSt |0.00 ~ 4.42| 2.40 12.84 s 1.00f 500 ~ 8.75 55.22 #hLlst | 5.00 ~ 875 2.40 12.84
4 100kN/mM%#BZ % -l -~ = -|3mEBZ5 -~ = = —| 100kN/m%#8% % = -~ = -|3mZFBZ 5 -~ = = =
s 1.00{0.00 ~ 5.97 74.73| FhLls 1000 ~ 597 2.11 11.30 s 1.00f 500 ~ 8.72 74.73| #hlst | 500 ~ 872 211 11.30
5 100kN/mM%#BZ % -l -~ = -|3mEBZ5 -~ = = —| 100kN/m%#8% % = -~ = -|3mZFBZ B -~ = = =
s 1.00{0.00 ~ 288 37.26| =h L4t | 000 ~ 2.88| 2.53 13.51 s 1.00f 500 ~ 6.47 37.26| Tnkst | 500 ~ 6.47| 253 13.51
6 100kN/mM%#BZ % -l -~ = -|3mEBZS -~ = = —| 100kN/m%#8% % = -~ = -|3mZFBZ 5 -~ = = =
s 1.00{ 0.00 ~ 6.98 88.49| Zh L4t |0.00 ~ 6.98| 2.55 13.65 s 1.00f 5.00 ~ 10.57 88.49| =nLst | 500 ~ 10.57| 255 13.65
7 100kN/mM%#BZ 5 -l -~ = -|3mEBZS -~ = = —| 100kN/m%#8% % = -~ = -|3mZFBZ 5 -~ = = =
s 1.00{ 0.00 ~ 457 57.00| Zh L4t |0.00 ~ 457 2.36 12.62 st 1.00f 500 ~ 8.54 57.00f Z=h L4+ | 500 ~ 854 2.36 12.62
8 100kN/mM%#BZ % -l -~ = -|3mEBZ5 -~ = = —| 100kN/m%#8% % = -~ = -|3mZFBZ 5 -~ = = =
s 1.00{0.00 ~ 1.34 20.89| #hLlst | 0.00 ~ 1.34] 2.93 15.69 st 1.00f 500 ~ 6.31 20.89| #h L4t | 5.00 ~ 6.31| 293 15.69
9 100kN/mM%#BZ % -l -~ = -|3mEBZ5 -~ = = —| 100kN/m%#8% % = -~ = -|3mZFBZ 5 -~ = = =
s 1.00{0.00 ~ 2.90 37.49| #hLlst 1000 ~ 290| 2.39 12.81 s 1.00f 500 ~ 5.32 37.49| =nkst | 500 ~ 5.32| 239 12.81
10 100kN/mM%#BZ 5 -l -~ = -|3mEBZ5 -~ = = —| 100kN/m%#8% % = -~ = -|3mZEBZ 5 -~ = = =
s 1.00{0.00 ~ 3.16 40.45| =xnLst | 000 ~ 3.16 2.33 12.47 st 1.00f 500 ~ 5.32 40.45| =nksh | 500 ~ 5.32| 2.33 12.47
11 100kN/m##8% % = ol ~ = -|3m%i#825(0.00 ~ 0.28| 3.60 19.26| 100kN/m#%#B 2% = o ~ = -|3m#%#=z5| 500 ~ 532| 3.60 19.26
s 1.00{0.00 ~ 1.22 7.20] Thist (028 ~ 122 3.00 16.05 st 1.00f 500 ~ 5.32 7.20| #hlst | 5.00 ~ 5.00| 3.00 16.05
12 100kN/mM%#BZ % -l -~ = -|3mEBZ 5 -~ = = —| 100kN/m%#8% % = -~ = -|3mZFBZ 5 -~ = = =
s 1.00{0.00 ~ 1.73 24.93| Fh L4t |0.00 ~ 1.73| 2.68 14.36 s 1.00f 500 ~ 5.15 2493 #hLls+ | 500 ~ 515 2.68 14.36
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3mERBAD ~
zh st ~ FhLst ~ st ~ ZhLst ~
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/mM%#8% % ~ 3ImERBAD ~
zh st ~ ZFhLst ~ st ~ ZhLst ~
100kN/mM%#BZ 5 ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3mERBAD ~
zh st ~ ZFhLst ~ st ~ ZhLst ~
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